T8 x2—4x +13=0 [2i31]

A _4-43--9 x= 2 234
4
/
4 - A Love 34

INFATTI (z +3i)2- 4 (2 432,\ +43 - 4 +(3i)z+«{/,c/—8 —-}z{i +43 =

= 4—5“8 +43 =0

EQUAZ(OUI Dl 2° 4eADO

a,)<z+ Q“X-{—C = O

L tn dove 1% ine dde dre podic quodiste
200 A

x*+64=0 [+2(1+1i);£2(— 1+ i)]

x4__ ¢4 tivore Lo 4 nodics guante & -64

4_ 64 (conTm 4 i st

= 64 (%Z-(—AS&«- )—_—_2 < + 4 ._> 2,\)_2(03- d_é)

N

i

2424

)

ih
<

1-2_2,, 2-"'2/"



FIRY xS+ 7x* —8 =0 ’ 2,1 48,1, =228

(x3+2)(x*-4) =0
———
@ @

0 x’+¢-0 (2+2) (x-2x +4) =0

2
X=~2 V X-2%4+4=0

_A__:,(.. = -
2 4=-73
x=4:VU3%
@ x3—4 =0
3 2
X =Ads (x-4) (X + X 44
> oL G 5( )
2
A X =A \4 X+x44{4 =0
4.8,
+ZA_< A=4—4=—3
(L i X:"'fi‘u—é;

X=z=2 V X:Jt\ﬁx., V X=4 V X= _./{“.:J_S}'




xt+6x2+25=0 [+ (1 +2i), £ (1 —2i)]

X2 b X+ 4t +2B =0 2.-3-25= 46
Fo —3% 44
@x2=-3—-4i v @x"=—3+4i
(0 xo-3-44 0= \E3) a5
I quape. bmm?zgﬂ=—‘13' - 1r+o~dau~f‘§

X, = 54’2(606(1+o:t“~§ ) Fa w(“*"“b"“’% ))

2

4 4
%(W+0¢Mi)=% Niy MJ-'O«AF;):__W o«otaw_'g‘):
2. 2

S +
2 2
— Con (otou 4 il
=—\[{ (oncon £ = (%) Fauxaa bl BISE2I0VE
> Sil’l%zi 1—;08@
£, 4 A4 4
m(mcauﬂ = 4 Y Coool =t « —
_ 4 4 4 3
1+ (£ it J=m 5
2 Z
= _./""8 - _./ 5 @ __4L I R
2 Z = 2
=2
— X, = 5-1-3—-1):—-4—-2/0 = T e
> \)-( 5 Us Vs




Allcams Yrnaks b podic 3y =—A-24 | Ba & tmo rodice gt
b -3-44. $ o wdic guaols & xy=4+2i (aperl & x,)
A canes dugue bovole due  nnlution CorapLore ‘MQ'ZT‘ r e |
S.p,oﬂ}m_ e Aonamms bo W.:gatcﬂ c{-unb,

Ky = =4=24 Xog= Xz =442

><2.= "{""24(: X4$xz=’('—z“’

r)(':-/{—Za; v )(:44'2/: V Xz 43424 V X =A4—-224




